## **Herambraj Sonawane**

From: Nitin Singhal <nitins@laksh.info>
Sent: Nitin Singhal <nitins@laksh.info>
Thursday, August 22, 2024 4:45 PM

**To:** Herambraj Sonawane; 'Herambraj Sonawane'

Cc: Lovejot Sekhon

**Subject:** RE: IT Networking system for Trivandrum New Central Kitchen

## Dear Herambraj,

## Please find below revised quote.

SI. No.	Description	QTY	Price	Amount
1	8 Port Network Switch for the Wifi and LAN networks for the store	1	1800	1800
2	CAT 6 cable for the Wifi and networking of the store	109	27	2943
3	Data outlet with RJ-45 jack	8	200	1600
4	Patch Cords of 2 meters length	6	160	960
5	Wifi Router Tenda N301	3	1200	3600
GST Extra				

**Thanks & Regards** 

89

Nitin Singhal LAKSH IT Solutions & Security Systems Pvt Ltd An ISO 9001:2008 Certified Co.

Ph. 011-35609550

Cell:-09312252563,09717627999

From: Herambraj Sonawane [mailto:mumbai.purchase1@k-corp.in]

**Sent:** 22 August 2024 15:57

To: Nitin Singhal <nitins@laksh.info>; 'Herambraj Sonawane' <mumbai.purchase1\_kcorp@travelfoodservices.onmicrosoft.com>

Cc: Lovejot Sekhon <lovejot.sekhon@k-corp.in>

Subject: RE: IT Networking system for Trivandrum New Central Kitchen

Dear nitin

Kindly revised price for the same as discussed,

# Thanks & Regards Heramb

#### 9702415737

From: Nitin Singhal < nitins@laksh.info> Sent: Tuesday, July 16, 2024 6:31 PM

To: Herambraj Sonawane < <a href="mailto:mumbai.purchase1@k-corp.in">mumbai.purchase1@k-corp.in</a>; 'Herambraj Sonawane' < <a href="mailto:mumbai.purchase1">mumbai.purchase1@k-corp.in</a>; 'Herambraj Sonawane' < <a href="mailto:mumbai.purchase1">mumbai.purchase1</a> <a href="mailto:mumbai.pur

**Cc:** Lovejot Sekhon < lovejot.sekhon@k-corp.in>

Subject: RE: IT Networking system for Trivandrum New Central Kitchen

Dear Herambraj,

Please find below proposal.

SI. No.	Description	QTY	Price	Amount
1	8 Port Network Switch for the Wifi and LAN networks for the store	1	2250	2250
2	CAT 6 cable for the Wifi and networking of the store	109	35	3815
3	Data outlet with RJ-45 jack	8	20	160
4	Patch Cords of 2 meters length	6	160	960
5	Wifi Router Tplink Archer C6	3	3100	9300

GST Extra

Payment 100% advance



Nitin Singhal
LAKSH IT Solutions & Security Systems Pvt Ltd
An ISO 9001:2008 Certified Co.

Ph. 011-35609550

Cell: 09312252563,09717627999

From: Herambraj Sonawane [mailto:mumbai.purchase1@k-corp.in]

Sent: 12 July 2024 20:43

To: Nitin Singhal <nitins@laksh.info>; 'Herambraj Sonawane' <mumbai.purchase1 kcorp@travelfoodservices.onmicrosoft.com>

Cc: Lovejot Sekhon <lovejot.sekhon@k-corp.in>

**Subject:** RE: IT Networking system for Trivandrum New Central Kitchen

Address - Near shanmugham Beach, Administrative Building, Trivandrum International Airport, Airport Road, Thiruvananthapuram, Thiruvananthapuram, Kerala, 695008

Please provide Quote

## Thanks & Regards Heramb

#### 9702415737

From: Nitin Singhal <<u>nitins@laksh.info</u>> Sent: Friday, July 5, 2024 6:07 PM

**To:** Herambraj Sonawane < <a href="mailto:mumbai.purchase1@k-corp.in">mumbai.purchase1@k-corp.in</a>; 'Herambraj Sonawane' < <a href="mailto:mumbai.purchase1">mumbai.purchase1@k-corp.in</a>; 'Herambraj Sonawane' < <a href="mailto:mumbai.purchase1">mumbai.purchase1@k-corp.in</a>; 'Herambraj Sonawane' < <a href="mailto:mumbai.purchase1">mumbai.purchase1@k-corp.in</a>; 'Herambraj Sonawane' < <a href="mailto:mumbai.purchase1">mumbai.purchase1@k-corp.in</a>>; 'Herambraj Sonawane' < <a href="mailto:mumbai.purchase1">mumbai.purchase1</a> <a href="mailto:mumbai.

**Cc:** Lovejot Sekhon < lovejot.sekhon@k-corp.in>

Subject: RE: IT Networking system for Trivandrum New Central Kitchen

Please share exact address with pincode.

### Thanks & Regards



Nitin Singhal LAKSH IT Solutions & Security Systems Pvt Ltd An ISO 9001:2008 Certified Co.

3

### Ph. 011-35609550

Cell :- 09312252563,09717627999

From: Herambraj Sonawane [mailto:mumbai.purchase1@k-corp.in]

**Sent:** 05 July 2024 18:05

To: Herambraj Sonawane <mumbai.purchase1\_kcorp@travelfoodservices.onmicrosoft.com>

**Cc:** Lovejot Sekhon < lovejot.sekhon@k-corp.in>

**Subject:** RE: IT Networking system for Trivandrum New Central Kitchen

Reminder

## Thanks & Regards Heramb

#### 9702415737

From: Herambraj Sonawane

Sent: Tuesday, June 25, 2024 7:24 PM

**To:** Herambraj Sonawane < <a href="mailto:mumbai.purchase1\_kcorp@travelfoodservices.onmicrosoft.com">mumbai.purchase1\_kcorp@travelfoodservices.onmicrosoft.com</a>>

**Cc:** Lovejot Sekhon < <a href="mailto:lovejot.sekhon@k-corp.in">lovejot.sekhon@k-corp.in</a>>

**Subject:** IT Networking system for Trivandrum New Central Kitchen

Dear partner

Kindly find below detail and provide Quote please

DISCRIPTION		
8 Port Network Switch for the Wifi and LAN networks for the store		
CAT 6 cable for the Wifi and networking of the store	109	
Data outlet with RJ-45 jack	8	
Patch Cords of 1.5 meters length	6	
Wifi Router	3	

Delivery – Trivandrum airport

Thanks & Regards Heramb

9702415737